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GEOGRAPHY

1. Muscovite is
(A) difficult to dissolve
(B) dissolved by alkaline solution
(C) dissolved by water
(D) dissolved by acid

2. The elastic rebound theory best relates to
(A) Avalanches
(B) Geysers
(C) Earthquakes
(D) Landslides

3. Magnetic property of the earth results from

(A) convective movement in the
Asthenosphere

(B) convective movementinthe outer core
(C) plate movement
(D) rotation of earth

4. Shortening in the earth crust is typically
accommodated

(A) Normal faults

(B) Thrust faults

(C) Horst and Graben structures
(D) Pull-apart basins

1. IPSRE
(A) 7120E 7gS 2 Al
(B) ISR el RS wAIg©
(C) o= TRy
(D) wIifEHF T3t warge =

2. BfeRo dferset o8 A @ [aaHa e
s ARG

(A) A T=ire
(B) fore=

(C) gh=t

(D) gfiet

3. AR BRI iR 3R =

(A) SHCEEFFIE «fRmew @ires
I

(B) 3258 (FHRNST 2AfI567 (S (A
(C) S AL N
(D) AT SRS T

4. TIE A5 G2 GO M ARATS 27
(A) TR pfe
(B) 9Dy pfe
(C) (=P @R AN 510
(D) #F-SAfG @
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5. Match the earth scientists with the
geomorphic theories proposed by them

Proponent Theory on
(a) J. Cvijic (1) Cirque
formation
(b) W. D. Wilson (ii) Landscape
equilibrium
(¢) G.K. Gilbert (iii) Bornhardt
formation
(d) M. F. Thomas (iv) Slope retreat
(v) Cavern
formation

Codes:

(A) a—iv b-iii ¢+ d-v
(B) a=v b-i c-ii d-iii
(C) a-iv b-ii c-i d-iii
(D) a-iv b-i cHii d-v

6. Which one of the following supports
the idea of Davis’ three stages of
landform development?

(A) Continental drift
(B) Hypsometric integral

(C) Rate of weathering and removal of
weathered material

(D) Trend surface residuals

7. Match List-I with List-1I and select correct
answer
List-1 List-11
(a) Waxing slope (i) Concave
(b) Free face (i1) Retreat with
free face
(c) Debris slope (iii) Convex
(d) Waning slope (iv) Bedrock
outcrop
Answer:
(A) a-ii, b-i, c—iv, d-iii
(B) a—iii, b—iv, c—ii, d-i
(C) a—-iv, b—iii, c—i, d-ii

(D) a-i, b-ii, c—ii, d-iv

SARICHISIGERICEE AR (GRS CEECTRE ol
A OGS (I

w-f3ea) O T ©F
(a) (. Pifefes (i) 7 tofiz og
(b) TFS. fG. T2evW (i) ST SR
() f& & freals (i) @S g vy
(d) a¥. a%. ANA (iv) DI *omsiel
(v) @2 % og
TRFO ¢

(A) a-iv  b-iii  c— d-v
(B) a=v  b-i c—ii  d-iii
(C) a—-iv  b-ii ¢ d-iii
(D) a-iv  b-i c—iii  d-v

6. fsferie @ [ form foa »~fiaa
il TBRF GRS L T2

(A) T2

(B) fRracanias 2fhae

(C) IERFIET 2T @R IERER
A1e #miedd STeel

(D) G AR @RIGARTA

7. ©ifa-l 932 -l i we el
B T

©ifere-1 ©ifere-11
(a) TFEREAT T (i) w_es
(b) TTE It (i) ©FE IeeTa
G

(c) =FARMG SIS GieT (ii) Tee
(d) TP Biet (iv) Tge7p e
Te :
(A) a—ii, b, c—iv, d-iii
(B) aiii, b-iv, c—ii, d—i
(C) a-iv, b-iii, c—i, dii
(D) a—i, b-ii, c—iii, d-iv



8. Which among the following is ideal for
achievement of steady state in an open system?
(A) Leeward slope of a frontal dune
(B) A glacier or the upper limit of
ablation zone

(C) Opening of a swallow hole by
ground subsidence in a limestone
country

(D) A stretch of a river between two
closely-spaced bridges

9. Assertion (A) : Inahillside, trees and posts
are often seen to lean
towards the direction of
slope.

Reason (R): In hillsides, groundwater
movement usually follows
the general direction of
slope.

Select the correct option.

(A) Both(A)and (R) are true, and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

10. Rhythmic beach features like cusps and
horns are evolved by

(A) storm surges

(B) dissipative waves, mainly during
storms

(C) wave-generated currents, like the rips
(D) coastal cells

13

8. e @t @ TUE 2eice FfeNa
SRTE| SR Gy SAYE ?
(A) S12=s! AfTfEs Seare e
(B) SR SIS GEAMI RaIced
ERE
(C) DAL SR SR &)
(D) 76 TRz SRFFS ETea e
BRI

9. RIC(A) ¢ @I MR v oMe G
TNRY TS AR OIEE
20 A0S @2 |
FFI(R) ¢ AR Te gordE TR
22 ALFTS BisT 919 =X |
o< mG oo e |
(A) (A) @R (R) 462 =, 932 (R) ==
(A)-a3 A= gt
(B) (A) @3 (R) 762 5, € (A)-a37
AfoF g, (R) T8
(C) (A) ¥1Mos 5% (R) o1
(D) (A) v&1 5% (R) =

10. TR S G O, @ 2l @3
ol fRR FRe
(A) AT TES =T
(B) ST INE BGOSR Beedw
(C) mT-Tge @, @ ‘o’ @Fre
(D) SogRE 2t
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13 X-6

11. Arrange the terms used in vertical change 11. 7S5 (AT T oItT Sote Teold Tary

of temperature in descending order as one goes up AR FE BRI BT (A N5 T TSI
from Earth’s surface

1. Adiabatic 1. ol afs
2. Inversion 2. faoide siofe™
3. Subadiabatic 3. Gotwmeld Al
4. Superadiabatic 4. TETEmos Jae
(A) 2,3, 1,4 (A) 2,3,1,4
(B) 1,3,2,4 (B) 1,3,2,4
©) 3,2,4,1 ©) 3,2,4,1
(D) 4,3,1,2 (D) 4,3,1,2
12. The Geostropic balance is 12. T&eEHF OREIS @ AR Gl ARTE
maintained with (A) TR Boi i oo SW @
(A) the exact balgnce of iqcoming AfeThre LW REaeE A0s
SW and outgoing LW radiation at SR
the top of the atmosphere
(B) the exact balance of vertical (B) RIS TTd BI5-GIT 9
pressure gradient and gravity in TGRSl
the atmosphere (C) @IfRefr{a, bivt-vrErefae e ¥k
(C) the exact balance of the coriolis T AT S

force, horizontal pressure gradient
force and friction

(D) @RSRP I 9. HIA-GETsie

(D) the exact balance of the coriolis T Ao o
force and the horizontal pressure
gradient force
13. Whichregion of Rajasthan experiences AW 13. FSBIET @ DS (I G
type of climate as per Koppen’s climatic fafrere S AW STy (=) TR e
classification?
(A) Southern most region (A) TR S
. (B) TEow SI¥E
(B) Northern most region
(C) ~ifoa ST

(C) Western region
(D) North-eastern region (D) Teg-5f7 Wi



14. Consider the following statements:

(a) Jet streams occur in the Northern
Hemisphere only
(b) Some cyclones may notdevelop an
eye
(c) The temperature inside the eye of
the cyclone is nearly 10 °C lesser
than that of the surroundings
Which of the statement(s) is/are correct?
(A) (a) only
(B) (b) and (c) only
(©) (b) only
(D) (c) only

15. Assertion (A) : Along equator no cyclone
occurs
Reason (R) : Angular momentum is
maximum along equator
Select the correct option
(A) Both (A) and (R) are correct, and
(R) is the correct explanation of
(A)
(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A)
(C) (A)is correct, but (R) is false

(D) (A) is false, but (R) is correct

16. The term oscillation is associated
with El Niiio and La Nina because
(A) their fluctuations are perfectly
periodic
(B) theirfluctuations are not perfectly
periodic
(C) they recur in the form of regular
cycles
(D) their fluctuations are related with
Northern Hemisphere Jet Stream
periodicity

X-7
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14. vz gfowf Roasa w:
(a) (&6 N2 SAG T (olleTed (7l T
(b) g g giface &% tof = Al
(c) IffITTa TF e wlomial offdoffas
OIS (A AR 10 °F1. 9 AMF
@i Rgfelb/Rafouf o
(A) L9 (a)
(B) w4aIg (b) &< (c)
(C) sy (b)
(D) ©g1g (c)

15. R (A) ¢ Fmraal 7ae gffe =7 1
FIF9(R) ¢ FwEdn @fiTea@aAEo
Ao ea oI Fepet

(A) (A) @R (R) 462 =, 93 (R) ==
(A)-7 A3 2t

(B) (4) 9 (R) 7t %, 58 (R),
(A)-7 A(5F i 77

(©) (A) o= 58 (R) g&l

(D) (A) o= 5% (R) B

16. @& TG @ 1 a2 Ao M PAfR<SEa

SR PR

(A) 9TR ZPRfE To)ferE Rinefi
(B) 07 ZPfa T=o)efeita “fiaarfae

I

(C) R FJ=aIfe PRSI bR

(D) 9@ FPw TeR (oleER (o6
2N A TE e 705 7T~oIFe
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17. Which one of the following events is
associated with occasional weak monsoon
rains in the Indian sub-continent?

(A) La Nina

(B) Movement of jet streams

(C) EI Nifio

(D) Greenhouse effecton global level

18. Read the following statements on mountain
winds and select the correct option

(a) Catabetic winds move upslope
driven by warmer surface
temperature on mountain slope

(b) Catabetic winds move downslope
when mountain surface is colder
than surrounding air

(c) Anabetic winds move up slope
driven by warmer surface
temperature on mountain slope

(A) (b) and (c) are correct

(B) (a) is correct but (¢) is incorrect
(C) (b) is correct but (c) is incorrect
(D) (a) and (c) are incorrect

19. The measure of maximum size of particles
that a stream can transport is called

(A) Stream Capacity
(B) Stream Ability

(C) Stream Capability
(D) Stream Competence

17. SIS Tomzimes wifvafite @ wda G
TR A RS @I 9510 TiFe 2

(A) &1 a1

(B) (&b 223 ZINS

(C) @& el

(D) R =T 2o

18. iI{y AR e e Rgfoutm
(S AT o @z 7w
(a) e GiteTa Taeed wisaie Fiecel
FBICAG 1Y BIteTa BRI s 2ifz®
2
(b) N=NfF TN G ARG DI
R SN FIACE FOIEHF Y GIET
ke s 2ifze 2
(c) e lteTa Taeed wisaie Fiecel
GNIRF Y T TF i gaifze =
(A) (b) &% (c) Al
(B) (a) 1, 5% (c) e
(C) (b) o=, 7 (c) gel
(D) (a) 9K (¢) wel

19. w-sifa1fzs 7Egze M P @ 27
(A) = IAPAD (Capacity)
(B) i «fxf1f (Ability)
(C) = FAfRTD (Capability)
(D) T FAGH (Competence)



20. In oceans, Rule of Constant Proportions
relates to

(A) Pressure
(B) Salinity
(C) Density
(D) Nutrients

21. Match List-1 with List-Il and select the
correct option using the codes given below:

List-1 List-11
(a) Challenger (1) North Pacific
Ridge Ocean
(b) Albatross (i1) North Atlantic
Cordillera Ocean
(c) Azores (i11) South Atlantic
Island Ocean
(d) Kuril Island (iv) South Pacific
Ocean

Codes:

(A) a—iii, b-ii, c—iv, d-i
(B) a—iii, b-iv, c—ii, d-i
(C) a—iv, b-iii, c—ii, d-i
(D) a—ii, b-iv, c—iii, d—i

22. Which of the following options relates to
the following statements?

Statements:
(a) Itis characterized by earthquake

(b) Ittracesboundaries between several
tectonic plates

(c) Itis almost parallel to the ‘Ring of
Fire’
Codes:
(A) Mid Oceanic Ridges
(B) Oceanic Trenches
(C) Abyssal plain
(D) Pelagic Zone

X-9 13

20. TP T SF FACIG LACARHT, G AN
TolfFe

(A) Bi?l

(B) wReel

(C) 9%

(D) %3 Tollmie

21. SiferemBa s S Argera w1 e o

AfST FCFOH 5 el :
olferel-
(a) DICIGIS CRIaTfI
(b) STFRIGH FEE

©IfTFI-I

(i) TEF g TR
(i) T&F HoaAfoe

EEIGE|
(c) SIS @l (iii) wfFe SGAIFGS
EEIGE|
(d) =Tz Aol (iv) 7 g EmeE
HPOST -

(A) a-iii, b-ii, c-iv, d-i
(B) a-iii, b-iv, c—ii, d-i
(C) a-iv, b-iii, c—ii, d-i
(D) a-ii, b-iv, c—iii, d-i

22. GBI @ REEeH Apa [gfosfem A
TAfFe ?
ﬁ?@:
(a) @b ghic=a a4l viRaie
(b) «ft SRl Atex ST TRE [Kgo
(c) @b ST G- AN 2 AT
FLPFOGI 2
(A) W& ANGS Cofaria
(B) 7 e

(C) IS F[Hd S
(D) “Areifers g
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23. In oceans, pycnocline relates to
(A) surface waters

(B) zone below the surface waters
and above the deep waters

(C) deep waters

(D) waters from surface to bottom
zZones

24. The closest approximation of the global
mean sea level rise since the start of satellite
altimetry in 1993 is

(A) 70 mm
(B) 60 mm
(C©) 90 mm
(D) 100 mm

25. Waves break as they approach the coast
because

(A) wateris pulled down by the gravity as
wave steepness exceeds acritical value

(B) friction with the bathymetric profile
causes refraction of the wave train

(C) speed of wave movement exceeds the
speed of wave-induced currents

(D) rotational speed of water particles
constituting the waves exceeds the
speed of wave movement

26. Translatory wave develops

(A) in the land-ward side after wave
breaking

(B) in the sea-ward side before wave
breaking

(C) in the deep sea
(D) inside the estuary

X-10

23, MR W& FIFEFRS 0o T @RT:

(A) T Gl
(B) @A NG IR S TR ST
THAER S

(C) IS A &
(D) G (A TSI Y AW &

24. 1993 AT Golelz fofas Tovel ey v zeag
131 (T AN 1T A" T3 Tl i (AATZ—

(A) 70 if
(B) 60 fafst
(C) 90 ffst
(D) 100 faif

25. GoRCET MG ST EPCRR o3 O 1% (B8 ANSAR

(A) SIS BIFT IO SO I
Tl SfesE a A W
G =

(B) 1Y SHC*IR AL TeleTfere Tt
T (NP AfeTae

(C) ST sifordsl ebifere @ited
(BT @M 2

(D) SRS TEelld Sqes (5!

26. FEEGIR O (o =W

(A) STER O @ ohE s
Aot

(B) SRR ©ied 7 M@ e
aArseica

(C) sre T
(D) #ifa stey
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27. Read the following facts about rotating
tide:
(a) Tidal range increases away from
the nodal point

(b) Tidal range reduces away from
the nodal point
(c) Velocity of tidal wave increases
with depth of occan
(d) Co-tidal line rotates in clockwise
direction
Which among the following options is
correct?
(A) (a) and (c) are correct
(B) (a) false but (d) is correct
(C) (b) is false but (d) is correct
(D) (b) and (d) are correct

28. Which of the following is wrongly matched?
(A) Benguela Current — Cold
(B) Humboldt Current — Cold
(C) Kamchatka Current — Warm
(D) Kuroshio Current — Warm

29. Height of storm surge in a coastal region
does not depend on which among the following?

(A) near-shore bathymetry

(B) position of the surge affected area
— left or right — related to the
storm track

(C) presence of protective vegetation
like mangroves in the intertidal
area fringing the coast

(D) mean sustained wind velocity of
the storm

30. Sustainable development goal- ‘Life below
Water’ aims at conserving and sustainable use of

(A) Ground Water resources
(B) River and Stream resources
(C) Marine resources

(D) Wetland resources

27. YR (SRR TS T L asfer oig:
(2) (% (A T (SRTOOE MK
T(eTd Tl AL T I o

(b) FE (AP YA (SRSBIF T
TR TR Al T T AT

(c) (SR oI Sifotas I
SO God e

(d) M- @il s FoF
S BTG A

(A) (a) 9% (c) AT

(B) (a) w1 5% (d) o

(C) (b) v= g (d) 7=

(D) (b) @& (d) A=

28. A @G A w72
(A) (FHEE @Fe — Ares]
(B) 2NIEFT & — Fres]
(C) IITHHI @o — T
(D) FEFT @Fe — T

29. THTER AR AT TES S T
Twel R TofF fSe 63 1 2
(A) 660! TP TSI Koy
(B) T Zeiiie @ IFE SRE
— T AT B A A e
(C) T/FETR 2Memwed MR S
SR Bt
(D) AT AT ASICR 91T sifocal

30. 13T RN e — @3 FBieRie Sauee
T THa @2 Trmia T ¢ Ffofls aaiEa
ML FAFS

(A) BIOZ T >0
(B) Tt &% som

(C) AUz Frmifer
(D) CeTghl AT T~
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13 X-12

31. 10% law of energy flow model was coined
by
(A) R.Lindeman
(B) E.P. Odum
(C) A. Leopold
(D) R. Carson

32. The maximum permissible limit set by
Beureau of Indian Standards for nitrate level in
drinking water is

(A) 45 mg/l
(B) 40 mg/l
(C) 50 mg/1
(D) 35 mg/l

33. Theestablishmentofaplantinanew habitat
is called

(A) Speciation
(B) Ecesis

(C) Colonification
(D) Phytospread

34. Theformation of the 90 EastRidgeisrelated
to
(A) Crozet eruptions
(B) Kerguelen Hotspot
(C) Elan Blank Fissure
(D) Mid-Indian Ridge

35. “From Gandhi (as well as Spinoza),

Naess reinforced his intuitions about

equal ‘right’ of all species to flourish on
the planet together with the Eastern doctrine of
Ahimsa”. What does this relate to?

(A) Shallow ecology

(B) Cosmic ecology

(C) Deep ecology

(D) Philanthropic ecology

31. & 2% MFE 10% O AT
(A) 3. TTcesia
(B) 3. 4. eum
(C) «. Ferie
(D) 4. T

32. SIS TS A S AN S
TEHER SIS @l 26

(A) 45 mg/l

(B) 40 mg/1

(C) 50 mg/1

(D) 35 mg/l

33. 36 Tou IFecE Sfema afewis T @l
=
(A) PP
(B) «r@bm
(C) IR
(D) TGRS

34, <3 396 e Sua «g e TFe
(A) GFICSD Tmigel
(B) (FASTE OGR™
(C) T& Frim wiwel
(D) fre-2fea taierrai

35. “aER SRONT OGS SR (AT ©F
0 Pofare g3z T 21fEe dRe ojfiSice T

AT BT ¢ I e afofde =7 17-afb
I A TS 2

(A) I BCleTer

(B) & Zrletfer
(C) TS Trzleifer

(D) fretivefeis Srmte




36. Which of the following is not a soil erosion
assessment method?

(A) RUSLE
(B) CORINE
(C) PESERA
(D) CISRO

37. Tropical evergreen forests are usually found
in areas having of rainfall and having a
temperature range of

(A) more than 200cm, 15-30 °C
(B) 100-200cm, 30-35 °C

(C) 50-100cm, 10-20 °C

(D) below 50cm, 20-35 °C

38. The 28th Conference of Parties was held at
(A) Baku
(B) Katowice
(C) Sharm el-Sheikh
(D) Dubai

39. Which of the following is not directly
associated to ecosystem restoration?

(A) Introduction of native plants
(B) Dam decommissioning
(C) Restriction of grazing

(D) Restriction of anthropogenic
control

40. Which of the following is a qualitative
environmental assessment method developed in
1971 by USGS?

(A) Leopold Matrix

(B) Diagonal Matrix

(C) Hash Table

(D) Transformation Matrix
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36. el Wy @I Jfed waE Afwicom
Aefs T2 ?
(A) RUSLE
(B) CORINE
(C) PESERA
(D) CISRO

37. BlEEICAE TEo
ATRPIE e ezl S@ee 1% & |

(A) 200 FIRL-93 @M1, 15-30 °G1.
(B) 100200 G, 3035 °G1.
(C) 50-100 @if¥., 1020 °GA.

(D) 50 @Ifw.~93 9, 20-35 °G1.

38. 28-©% Rl o A e zafee
@3 7
(A) =
(B) JIorenzA
(C) I «&-(x12l

(D) 7%

39. 3 (@R AGSE 7RI AL TR
TG 7377

(A) ZINE Sfema @it

(B) JRUIPE =1l R SopAe
(C) oI ez sixe ozl

(D) Seae T fmael

40. 1971 icst USGS #AfRCIC™ R &l
@ RE=elas Awfoq o S 2

(A) Trersirs G
(B) SlRICa s
(©) Ty (Bfe

(D) GErRGHe G
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41. Constrictive population pyramids denote
(A) effects of war, disease, pestilence
on population
(B) excessive birth rates

(C) populations that are elderly and
ageing

(D) the demography of pre-industrial
population

42. Which among the following involves both
supraglacial and subglacial processes?

(A) Sublimation
(B) Melting
(C) Calving
(D) Evaporation

43. Who among the following proposed that
fertility rate declines when density of population
increases?

(A) M. T. Sadler
(B) Thomas Malthus
(C) D. Ricardo

(D) W. Zelinsky

44. Which of these indices takes into
account health, education, economics
and politics in measuring status of women?

(A) Gender Empowerment Measure
(B) Global Gender Gap Index

(C) Gender Development Index

(D) Gender Equality Index
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41, FFH© TERAE RN @R
(A) SRR &oiF e, (Fl%0 6 TR 2o
(B) wifofe & 2=
(C) ITF € AT TR AN
(D) i [R2taa A9 SrRaE wg!

2. T3 @& Awfel Teofa-famarm 9z
- ks afeFms e g
(A) ARBIGHT
(B) steT=
(C) IR
(D) AP

43. “GeEaees Iia AN AN G W@ FIOF
T AR — G OE (F TS (T ?
(A) «%. T Awa=
(B) 2SI SR
(©) fo. et
(D) ©fF%. @fermfZ

44, SR SRBE TFURE G (@ 50
g, Wi, SNfef ol @ae Ao el Ko
L2

(A) (O Q2SI @R
(B) (RN (TTOIF Sifiol Z0es
(C) (TR (CLSTATG 205

(D) (eroid TR Zces
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45. Feminisation of the farm sector is gradually
on the rise because

(A) more women opt to work in the
farm sector

(B) poverty drives women to work as
farm labourer

(C) increase in male migration from
rural to urban areas

(D) there is greater equality in the
wage structure in comparison to
previous years

46. Match the settlement characteristics
in List-1 with the patterns of the
settlements in List-11.

List-1 List-11
(Characteristics) (Pattern of
Settlements)
(a) Sites close to (1) Star

supply of water
(b) Villages aligned
to transport routes

(c) Dwelling units spread
out in several directions

(i1) Circular
(i11) Wet Point

(d) Settlements developing
around a fort/temple
Select the correct answer from the
codes given below

(@ b (© (@

A) G Gy @ @Gv)

B) @) @Gv) @) ()

© @ Gy @Gv) (i)

D) G G @ @Gv)

(iv) Linear

45. TN 3@ e TefEfe @ e
BaEg|

(A) et @ g o E1EE e
FACS aF] 2

(B) Wifewy ISt I (T IS 00
QL) IR

(C) 7RFaal @l @ =ICH &l (A

(D) f91® qgaefora gemi e feTRcT
- @E @OTGF S (@
iy o 51 AR

46. ©IfFFEI-I @3 GEIATGT AFGIiECE
el 93 TR ReNIea 43d Ak (@&i:

oifere-1 ©iferer-I1
(M%) (MeRerifoxn
e 39)
O RiGERCNES () oFFFhe
feoas! 74
(b) W 47 IRE (ii) CaATFRS
510G @I AN
(c) ffeq s (iil) TR IF
MAIfe IPTE
(d) @I vl (iv) @aRs
™ F oIS
€ GRS
e e (A AfS Tt @z e

@ O (© @
A) Gy Gy @ @Gv)
B) Gi) @Gv) @) ()
© @® Gy >Gv) (i)
D) G (@) G Gv)
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47. Whichone of the following plays adeciding
role in rural to urban migration?

(A) Low employment opportunity in
the rural areas

(B) High pressure of population on
the village resources

(C) Economic inequality among the
rural people

(D) General tendency of migration to
the urban areas

48. Which amongst the following is not a
consequence of accelerated migration from rural
to urban areas?

(A) Growth of  unregulated
settlements or slums

(B) Fastincrease in urban population

(C) Improvement in the rural
economy due to lower population
pressure

(D) Development of urban sprawl

49. Which among the following statements on
hamlet settlement is not true?

(A) Transport network is less likely to be
extensive in hamlet

(B) Commonly hamlet forms through
historical farming practices

(C) Hamlet settlements decline due to
government intervention through
investments in rural areas

(D) Hamletis more likely to be community
oriented

50. Who coined the term ‘Urban
Revolution’ to denote the shift from
small village based societies to politically complex
urban societies?
(A) Gordon Childe
(B) Henri Pirenne
(C) Lewis Mumford
(D) Harris Ullman
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47. A (AF TR HAREEER (wg TRk
@D P O siieT w62

(A) Al ST T IR A6

(B) ATl Tooitra 8o Gegld
Sfefae biof

(C) a1 imIma ey el sy

(D) *z@7 M SEees Teois
ERIY)|

48. fasferive Rgfoulem Wy @@l oW
X5 GG AT T = A7

(A) G Al e STz I

(B) *I2(F SRR W Jia

(C) 8 SPRAIF &) alfifiel 1efifes Tafe
(D) *=RIHER [@R

49. NG P T Tvd (i [l Ao
e

(A) ZINEG P G/ ALFTS
|fFaea #ites e s =3

(B) TS ARY TOIOFH (A
AT ol (S I TED
IS 90T S

(C) i et fafacaes e
ATFE THCHRCAT (T N0

ol Fe &7

(D) G AT AT (51D (e
BRIV NG

50. (2% ANfefesd T™ite T Toe TS
I SR AN 70531 2wl (F ¥ e =
e ¢

(A) sS fi75 (Childe)
(B) &S 4t (Pirenne)
(C) 2 TS

(D) ZIfz™1 Sersyiay
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51. Which of the following statements about
electricity consumption in developing countries is
more appropriate?

(A) Increasing Government
investment on alternative energy
sources reduces per capita
electricity consumption

(B) Limited access to technology and
economic activities limits per
capita electricity consumption

(C) Higher level electrical tariff
reduces per capita electricity
consumption

(D) Energy efficient technology
reduces per capita electricity
consumption

52. The India-WRIS stands for
(A) Water Resources Information
System
(B) Watershed & River basin
Information System
(C) Wetland Resource Information
System

(D) Watershed Resources Information
System

53. Who, among the following scholars,
contributed notably towards understanding the
origin and dispersal of agriculture?

(A) Torsten Hagerstrand
(B) Carl Ottin Sauer

(C) John Carrier Weaver
(D) Peter Gould

54. Which of the following explains the
meaning of agricultural productivity?

(A) It is a measure of agricultural
efficiency

(B) The total crop output of an area
(C) The yield of crops per unit of area

(D) Thelevel of agricultural development
in an area

51. SEaeAleT (oo fgieed 9219 TR NI
&l R wermgs @A Ay 2

(A) SIbFwEe *feq Serm@ a7
GG TR R mefg
TSR IR ZA IR

(B) =gfE @k wdfiafos FRITAR
wilsrel Wy Ruces 2w
g

(C) fageen vol wiw Wiy fyyces
TaRE g T

(D) fgres v gazE-23fe g
TSR I Z IR

52. India-WRIS TE109 (QRIT
(A) WaterResources Information System

(B) Watershed & River basin Information
System

(C) Wetland Resource Information
System

(D) Watershed Resources Information
System

53, fasfeiee feaaeema s @ o
FRIICea T ¢ B #IvR R SrEewioy S-wiw
&ISIPGDR

(A) TG Foirge
(B) e &foe s
(C) &« @7 Seld
(D) #iom= ¢

54. A @ TR FR GAMCR oL (@R 2
(A) ¢l FR wrom @3l #ifziel
(B) (FIGT ST AT (G SLAw
(C) ©fE 9T (Fga [9g Tl
(D) @I St FI THAE 21ff7
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55. The term ‘Knowledge Industry’ was
introduced by

(A) Paul Krugman
(B) Fritz Machlup
(C) Robert Solow
(D) Amartya Sen

56. Whose proposition suggests that the
‘Behavioral Approach’ strongly determines
location of an industry?

(A) E. M. Hoover
(B) A.Pred
(C) A.Losch

(D) A. Weber

57. Choose the correctanswer from the following.
The Gamma Index (y) is

(A) ratio between number of arcs and
edges in a network

(B) ratiobetween observed nodes and
edges

(C) ratio between observed vertices
and nodes

(D) ratio between the observed
number of edges and vertices in a
network

58. Assertion (A) :In the context of
transporation, ‘Access is
not accessibility’

: While access is uniform,
accessibility is not

Reason (R)

Choose the correct option

(A) Both (A) and (R) are correct, and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (R)is true, but (A) is false

55. ‘Knowledge Industry’ e oe! 2w
(A) &1 GG
(B) ferbeg et
(C) A% @G
(D) STT8] G

56. I AI=el] AR @NbHel TS e
NE S Rt [E swe

(A) 3. 9G¥, T
(B) Q. (2T
(C) Q.77

(D) 9. SR

57. fasferfiie Ryfoef i 7w Teal @
T 1 o1t o (y) 2=

(A) G5 THSAE arc G edge-4d
EUIGASES)

(B) #f3&@™F® node @32 edge-9d
eI 7N

© J|fqe™Fe vertices €92 node-43
NI

(D) €36 @HEE Ao edge 9%
vertices-43 R FejATS

A2 2T ‘Access’ @R
‘accessibility’ @< &
FIFY(R) ¢ ‘Access’-& NS TS
‘accessibility’ (@ 9l 97

58. @31 (A)

oo

9 ewil oA FeFe
(A) (A) 9% (R) 452 3=, 93 (R) ==
(A)-7 A 2t
(B) (A) @ (R) 152 o5, fFg (R) ==t
(A)-(F @RI TR =1
(©) (A) 3= 8 (R) &1
(D) (R) 5% 5% (A) =1



59. Match List-I with List-11
List-1 List-11

(Social Movement) (Leadership)

(a) Chipko (1) R. M. Munda
Movement

(b) Narmada (i1) Amrita Devi
Banchao
Andolan

(¢) Jharkhand (111) Sunderlal
Movement Bahugana

(d) Bishnoi (iv) Medha Patkar
Movement

(v) Anna Hazare
Select the correct answer from the codes
given:

@ G © @
(A (@) @Gy @G @[Qv)
B) Gi) Gv) (D) (D)
© aGv) @ G (i)
D) Gv) G @G @)

60. Headquarters of SAARC is situated at
(A) Delhi
(B) Kathmandu
(C) Dhaka
(D) Islamabad
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59. @R 932 ORI (& (Tl

Ol oifere-l
(IS NCwieT ) (F99)
(a) T WA (i) o9, 9. Jo
(b) Tl Jve (i) =l @1

lleqanl
(c) TG (iii) THETIS

lleqan BRRGll
(d) Rczel? (iv) Gl #AioI
lleqanl
(v) ! e

o

s i Jeeafe (A 7 Teals vae

P

(@ b (© (@
A @ Gy G 3Gv)
B) Gi) Gv) @ (i)
© Gv) @@ () (i)
D) Gv) G G @

60. IS G MG 7Y G ST
(A) fuz
(B) TG
(C) T
(D) ZNRM
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61. The following two lists state themes in
cultural geography and their definition. Match the

two lists.
List-1 List-11
(Themes) (Definition)
(a) Cultural (i) Relationship
ecology between culture
group and its natural
environment

(b) Cultural
realm

(i1) Set of cultural
regions grouped
together

(c¢) Cultural (i11) Built environment

hearth
(d) Cultural (iv) Nuclear areas
landscape where cultural
traits, ideas and
technologies
develop and
diffuse

Select the correct answer from the
codes given below:

(@ (b (© (@
A) @ G G Gv)
B) Gv) (@) () (D)
© Gv) Gy @@ (i)
D) @ aG) @Gv) (i)

62. Which of the following statements
is not true?

(A) Cultural regions are uniform in
size

(B) South-east Asian cultural realm
is a transitional culture where
different cultures have mingled

(C) Cultural traits are the smallest
units of culture

(D) Cultural diffusion invariably
results in cultural conversion
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61. RIS v Sifereice MFfos ool 5y
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(a) AAEET (i) FAFOT B e w
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AfeeTa EEE
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L
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(@ b (© (@
A @ G G 3Gv)
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© Gv) G @@ (i)
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62. famferie @m Rfef A 77
(A) AT Tl A woaz
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(D) o gzl APRE AMF o
TATBER Sy WIS
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63. Which of the following statements about
Gujjar Bakrawalas is not true?

(A) They are nomadic pastoralists and
follow transhumance

(B) They are affected by restricted
grazing due to strict forest
conservation laws

(C) They are mainly Hindus and oral
folklores have been passed down
the generations

(D) Modern infrastructure
development disrupted their
traditional migration routes

64. Whichone of the following statements does
not define culture?

(A) Culture is genetically transferred
(B) Culture is shared

(C) Culture is adaptive

(D) Cultural is variable

65. The wellbeing approach of “Who
Gets What, Where, and How” in
geography was propounded by:
(A) Richard Hartshorne
(B) D. M. Smith
(C) David Harvey
(D) Richard Peet

66. The followinglists show the major language
group (List-I) and principal languages (List-11).
Match List-1 with List-11

List-1 List-11
(Language group) (Language)
(a) Indo-Aryan (i) Lahuli

(b) Dravidian
(¢) Sino-Tibetian
(d) Austric

(i1) Telugu
(iii) Santhali
(iv) Bengali

Select the correct answer from the codes
given below:
@ (b © @
(A) (1) (@v) (1) (i)
B) @ iy @) (v)
©) Gv) (@) @) (i)
(D) (i) G @G @1v)

63. T AN ST T=AE oA @I el
Ao T2
(A) 931 SlwoflaF T[T @R
GRS S |
(B) SRl YT BB FOIBG Sfel®
BIRO-CHGa IO (el G
w028 v |
(C) =1 3eT 2 @32 i1 9181 SN~ 0
Y4 I 2R A 77 |
(D) dma Foanfae sfiaie Auafe
iy SR SRR T
fafee 2o
64. RS fRYfoulm e @Al Agfors
RERIT© FCE 2
(A) Fegfe femaroela Ay
(B) H<FfS &= (G0
(C) HeFfs = wferifers
(D) F<H© #AfFaeaHiat

65. “@, N, @PIAT @R @G FE AT —
GANE 3 FRETS SRARE A& 2T
(A) TaorS B
(B) fS. @ fag
(©) cofvs e
(D) fao1S f5

66. Y (rem wifeemBre I A (oSt
(el @ 24| Rl (Ofee-ll) el SIiE |
Ol G3R 11-GF Gl 2 (@17 CAP)

©iferer- w1l
(@13t caNd) (@)
(a) TR (i) @l
(b) TfSGE (ii) oI
(c) Ao (iii) HAhewifz
(d) =IEF (iv) 3l
e ShRke gsest (@ A Teals
@z o

(@ () (© (@
@A) G Gv) (@) (i)
B) (® G () Gv)
© Gv)y Gy @ (i)
D) G @ G Gv)
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67. The DurgaPujaofKolkatahasbeenenlisted
as

(A) UNESCO tangible cultural
heritage.
(B) IUCNintangible cultural heritage.

(C) UNWTO intangible cultural
heritage.

(D) UNESCO intangible cultural
heritage.

68. The basic objective of the UN Framework
Convention on Climate Change (UNFCCC) is to

(A) stabilize the melting of Antartic
ice sheets

(B) stabilize greenhouse gas
concentration in the atmosphere

(C) reduce carbon emissions in the
developing countries to the level
of 1992

(D) stabilize ozone layer depletion

69. Which among the following statements
about the ASEAN is not correct?

(A) Itis engaged in addressing territorial
disputes in South China Sea

(B) Itactstointroduce standard currencies
among member states

(C) Itfacesthechallenge of varyinglevels
of economic development among the
member countries

(D) Itworkstofosterregional co-operation
and diplomatic dialogues

70. Which among the following rivers marks
the boundary between India and Pakistan?
(A) The Indus River
(B) The Beas River
(C) The Satluj River
(D) The Ravi River
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67. e gl ofe A ot ARge 2@E—
(A) UNESCO 7 7icgfos afeg
(B) IUCN il 7icgfos afeg
(C) UNWTO Wizl Micgfos dfog
(D) UNESCO wigl Ficghos afogy

68. TTARHT (117 G TSI & PIRED
5% (UNFCCC)-&3 361 Srmly 2e1

(A) SGIFHF S I SBAC T

fRfoRier w41

(B) Jgaers fAmzle siicia wiaics Zfeia
T AN

(C) Tazeiaiiet (e feTa ke fMemee siaie
1992-493 SF N =1

(D) ST BFF A Zfo#ier w41

SN

69. ASEAN &€ 57 (i g
Ao w7 ?
(A) W foet 91T oI kG e fam
~oe @t 7
(B) T (I feTd SIeay @0 e @l
AGETA &) i S FCAR
(C) @b oy (il g fomsiam
S ST G TP AT
202
(D) «ft SiieTs T2Iforel Q3L FoireT

70. DI @ T S G2 ANTBIET [
Hiet e s e

(A) frg =
(B) fRothit @t
(C) *few vl
(D) ZF=l aal



71. Who among the following scholars stated
that “Egypt is the gift of the Nile”?
(A) Strabo
(B) Aristotle
(C) Ptolemy
(D) Herodotus

72. Which of the following is incorrectly
matched?

(A) Nomothetic — a law-seeking
scientific approach

(B) Ideographic — a quantitative
model building approach

(C) Iconic model—anexact physical
representation

(D) Humanism—asystem of thought
based on human interest and
values

73. Inwhich of the following Chinese dynasties,
the study of geography gained significance due to
the discovery of the first compass?

(A) Ming dynasty
(B) Han dynasty

(C) Song dynasty
(D) Xiah dynasty

74. Select the correct sequence of rivers
arranged in the order of decreasing length

(A) Krishna, Mahanadi, Kaveri, Godavari
(B) Godavari, Krishna, Mahanadi, Kaveri
(C) Kaveri, Godavari, Krishna, Mahanadi
(D) Mahanadi, Kaveri, Godavari, Krishna
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71. M e v — (& 92 Sfeba o7e ¢
(A) Fical
(B) Syifspboet
(C) S
(D) EEATCTHR

72. EFReRER S @b gereiE Gt 2
(A) @eebs — s SeemasS

[SicainEREcIEs
(B) Efeaiffs — «Afwiisre wres tofha
i w

(C) WNZHF 258 — T (SIS T

(D) EEyiies — e @ i fefer
IRSIRIE]

73. WERIRS @ F AT AT TINE 242N
frefela Tg wifTwices SR grolkmdl wweene
L2

(A) Tk Fe=ee
(B) = el
(C) R AR

(D) = el

74. GNP (e e aateers i et
Egl

(A) Fel, S, FICIEI, CNmaT
(B) Coiwiasl, 3el, SIRIAl, SIS
(C) A, (MR, Fael, Smi
(D) I, I, (oA, el
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75. Match the books in List-I with their
respective authors from List-11.

List-1 List-11
(a) Geographica (1) Robert
N.Wilson
(b) Explanation in (i) Sir Alexander
Geography Cunningham
(c) A History of  (iii) J.N. L. Baker
Geographical
Discovery and
Exploration
(d) The Ancient (iv) DavidHarvey
Geography of
India

(v) Strabo

@ G © @

A (v G aGav) @
B) G @ (v) (i)
© (v) Gv) (@) (1)
D) () G () @

76. Hypothesis testing is the popular method under
(A) Modernism
(B) Positivism
(C) Logical Positivism
(D) Determinism

77. “Knowledge is subject to further
investigation, questioning, and critical scrutiny”
is the guiding principle of

(A) Empiricism
(B) Fallibilism
(C) Possibilism
(D) Humanism

78. The model, constructed on the basis of
observed regularities through inductive approach
is

(A) Priori model

(B) Posteriori model
(C) Normative model
(D) Predictive model

75. ©ifere--4 R A GIfFR-I-CS el
g e e
Oiferer- w1l
(a) Treaifrs (1) 916 @=. T2
(b) ST (i) T MEFSCR
3 fereallfz Fifacm
(c) Il B == (i) (& 9@=. @51 @R
el
Trrelfa
S
G
(d) W GRS (iv) (ST rs
fEreafs o
i
(v) e
@ G © @
(A) (v) (1)) @Gv) (@)
B) ) @@ (v) (i)
© (v) (@v) (i) (i)
(D) @Gi) @Gv) (v) @)

76. 3fbrs AT AT Gl Awo—
(A) SigRFoRm
(B) ooy
(C) Yfeaml erersam
(D) ferrgerm
77. ‘G WFE SEAFIE, fGeEpam, @3]

TGS AGRFACE Tolg fSahieT— @3

[y

et T FoEs dife—
(A) AAFTEHV
(B) wiferfferent
(SRZICIEDIRIL
(D) q<eiam

78. e Fafireer g fofe @ wiEd

Aafed M e o 2o
(A) % afsfre s
(B) ACSReR 2w
(C) =i foefiass aim
(D) SRAMREARE 2w
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79. Nomothetic approach focuses on
(A) individual cases or events
(B) producing general statements

(C) radical alternatives of system
analysis
(D) regional analysis

80. Which of the following is not a spatial data
source of geographic information?

(A) Isohaline map
(B) Isohyet map
(C) Isoneph map
(D) Isostatic map

81. Oil seed production in five districts : P, Q,
R, S, T are 900, 1800, 2700, 3600, 1800 quintals
respectively are to be represented in a pie diagram.

How much will be inscribed angle at the
centre for district R?

(A) 30°
B) 90°
(©) 120°
(D) 180°

82. 0-05 level of significance in hypothesis
testing means:

(A) there is 5% chance of not
committing type-I error

(B) thereis 5% chance in committing
type II error

(C) thereis 5% chance in committing
both type I and type II errors

(D) there is 95% chance of not
committing type I error

83. In a distribution, mean is 12, median is 20
and mode is 32. The distribution is said to be

(A) Normal

(B) Positively skewed

(C) Negatively skewed

(D) Bilaterally symmetrical

79. @INCADF 217 @7 T @y oM FE—
(A) TOF HAPTZ
(B) et f7gfe fersfiet
(C) Mafs ResReeR GNfers sl
(D) wNizdferss fReeel

80. fwfeTieeler sy @G cottifl
SR MR I 2

(A) FEaerel SIfbg
(B) I oG

(C) FACravZETSl b
(D) s e

81. P,Q,R,S, T 92 5 (&1 (oa1aier Sesiive
FAGE 900, 1800, 2700, 3600, 1800 FZ5ieT | 4ft
A3 @BCaa AR @RI 2 R (@1 SR
SR T (FlF T 22

(A) 30°
(B) 90°
(C) 120°
(D) 180°

82. FEeifelm G5« 0-05 Hefafrm™
GIERUEAC RS

(A) ATFE Gz ST G6 T 2T TSI
5%

(B) @ Bl §” @b 26T ASRA! 5%

(C) «req Gizst ea @ Tz i @fb 2eaa
TG 5%

(D) GTFE Gz T Tb T 2T TSI
95%

83. (@Il @b AT AGeT W W= 12,
RIS 3 20 93 GNCe 34 32 | @fbd 369—
(A) ==
(B) e FCw
(C) 3 T
(D) JEoRIE PeGam
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84. Which among the following satellite sensor
bands is best for discriminating land from water?

(A) Blue

(B) Green

(C) Red

(D) Near Infrared

85. Which among the following cannot be used
for georeferencing?

(A) Hand-held GNSS unit
(B) Aerial photograph
(C) Differential GPS unit
(D) Map coordinates

86. Which among the following represents the
bands of the LISS-3 sensor?

(A) Green, Red, NIR, SWIR
(B) Blue, Green, Red, SWIR
(C) Blue, Green, Red, NIR
(D) IR, Red, Green, Blue

87. Which among the following is not a source
of DEM?

(A) HySIS data
(B) ALOS PASAR data

(C) Survey of India topographical
maps published prior to the open
series maps

(D) Cartosat-1 data

88. In accuracy analysis, the average positive
difference between computed and desired outcome
value is called as

(A) Mean positive Error

(B) Mean Absolute Error

(C) Mean Standard Error

(D) Root Mean Squared Error

84. THSIRS (I G TS SeTelolts giele
(T 52 FAIF Gy 1 P 2
(A) et
(B) &
(C) ==t
(D) =6 SRGIRS
85. fatwa ilos MR ferersriafi
1 AT 3 ?
(A) T4 GaqaieT T
(B) fa==-o@ (Aerial photograph)
(C) TowiczfRE fefoias a7
(D) HER @St 752

86. LISS-3 GPIF (i Iiowfer (rdl e

(A) 79, 574, 76 SREifRs, Freasge
ERGIES]

(B) &1, 713G, A, FUoasIe SAEI2o

(C) T, 5@, 7, b STacenfee

(D) SRS, 6, 79w, 99

87. DA @G DEM-AF T 7372

(A) HySIS w2t

(B) ALOS PASAR w2<ifl

(C) et Pifarea i gt e =i
e Grattafraiet Mg

(D) Cartosat-1 S

88. @wHalawla “RETb-IR SIsIfeFe Fere a2
N FRFETT AT 9T GAISIF AT IE—

(A) T sifEte vz
(B) T SO=™feTets 3=
(C) f5= S57ere «aa
(D) F6 54 S @34
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89. Machine learning has various function
representation. Which of the following is not a
symbolic function?

(A) Decision trees

(B) Rules in proportional logic

(C) Rulesinfirstorder predicate logic
(D) Hidden Markov Models (HMM)

90. Considerthe following statementsinrespect
of formation of landforms in India:
(a) The Meghalaya plateau is
structurally an extended part of
the Deccan Plateau

(b) The Himalayan Mountain System
originated from a geocyncline
called Tethys and it is still rising

in places

(c) The Aravalli Range is
geologically the oldest mountain
of India

Which of the above statements is/are
correct?
(A) Only (a) is correct
(B) All (a), (b) and (c) are correct
(C) Only (c) is correct
(D) (b) and (c) are correct

91. According to the Government of India, the
number of agroclimatic zones of India is

(A) 9
(B) 12
©) 13
(D) 18

92. Which of the following National Park is not
located in the Himalayas?

(A) Kishtwar NP
(B) Dudhwa NP
(C) Mouling NP
(D) Pin Valley NP

89. o (I Gl s -G9 2SI FRIAT S
7372

(A) fefmm G

(B) TP 3 AR siess

(C) =T 3 TP% W7 (2fTs wIfes
(D) fares WeFe et (HMM)

90. SIS S~ B IS T
Rfowfy Rmal Fw:

(a) CTAIER el wifEFe) AeTghE
TP SR

(b) G W2e (A B o1dreq
AR W @R @S @Fe @b
Qe TYTT®

(c) poifes & (A ST ©iFced
SRAGE A 7
Toia i gfoufs Afdw?

(A) @ (a) ARG

(B) (a), (b), (c) 72 A<
(©) (c) o=

(D) (b) &% (c) Al

91. TIFS THIET O S SO (F Tl
PR GERIRY T Ol T 22 ©f 26
(A) 9
(B) 12
(©) 13
(D) 18

92, T A0S (@I GO Twywi Sfze 7772
(A) FCEERT Sl Tl
(B) 74l S S

(C) TR Trer Swyiel

(D) o= pifeT o Tl
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93. Which of the following statements is
correct?

(A) Food Corporation of India is
engaged in regulating food price
to ensure food security in India

(B) ICDS program in India focuses
on the food security of children
and pregnant women

(C) Antyodaya Anna Yojanaisaimed
to address rural poverty

(D) Enhancing agricultural
productivity is possible by
expansion of agricultural land

94. The principal causes of soil damage in
Punjab and Haryana is

(A) Deforestation

(B) Soil Erosion

(C) Excessive Cultivation

(D) Salinity and Water logging

95. Data on nutrition status are found in which
of the following sources?

(A) Census of India

(B) National Sample Survey Organisation
(C) National Family Health Survey

(D) Civil Registration of Vital Statistics

96. Which of the following states of India
possesses uranium?

(A) Arunachal Pradesh
(B) Uttarakhand
(C) Meghalaya
(D) Manipur
97. Which of the following states of India is the
largest producer of ragi?
(A) Tamil Nadu
(B) Karnataka
(C) Maharashtra
(D) Andhra Pradesh

X-28

93. qHa @i [KYFel Afow?

(A) TC FACAE oI S SIS
i feRrEel e

(B) SIredd =iz, f. f&. @1 (ICDS)
25 foie @ el e WA
MPTRR (ala (redl =

(C) SR T @IGNd Sty 2t
vz v

(D) hwhr ez 73 IR
TeriwaRieTol Jia T QTS 2

94. G ¢ R e SH=HERA 2Ll FIel
=—
(A) IR
(B) fer
(C) wfefie pRRm
(D) w9l € Terme!
95, S|P FTRGT® U (FF T (A oAl
T2
(A) SIIEE
(B) ISR et A
(C) wreiT wifaa Frgy A=
(D) tifes @fEcg = ws <iEhE

RO EEIE |

N

96. SIS (FI AEH SSCAWA 2N AR 2
(A) S=FeDsT 2T
(B) TeRde
(C) @T9IeT™
(D) s

97. SIFCed (&I ST AIGE @R Fifsl Tl
T2
(A) SIfiETg
(B) 36
(C) =%
(D) =iz A=
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98. Abolition of Industrial licensing in India for

most sectors was made in which of the following
policies?
(A) Industrial policy 2004
(B) Industrial policy 1948
(C) Industrial policy 1956
(D) Industrial policy 1991

99. Assertion (A) : Animportantcharacteristic
feature of rural to rural
migration in India is the
preponderence of females
in the stream

Reason (R): Female migration in India
is greatly influenced by the
prevalence of patri-local
marriage system

Select the correct option

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A)

(C) (A)is correct, but (R) is false
(D) (A) is false, but (R) is correct

100. The ICT industries contribution to Indian
GDP currently is around

(A) 5-10 per cent
(B) 11 — 15 per cent
(C) 16 — 20 per cent
(D) > 21 per cent

13

98. SIedd @Rele METHe Ee™ 249

AP T T A @i e Aifere ?

(A) 2004 AR e
(B) 1948 Ated Mimaife
(C) 1956 A= Fimaife
(D) 1991 AR HEaife

99. G (A) & RICS AN (A 2l AT
AqE @Y T Q@R W
iEaa Sreifey

FIFI(R) ¢ Weemiwd sAfvaied yae
el e zaw Rar Tz
73l el 27
o Tml vae e
(A) (A) 93% (R) 762 A, @I (R)
2o (A)-3 AT it
(B) (A) =& (R) 62 3=, e (R),
(A)-7 A= e ==
(C) (A) < g (R) @t
(D) (A) o= 5% (R) #(oF

100. ©2 ¢ @I 2f& FER e eRred

fafefr-ax 2 s

(A) 5— 10O
(B) 11— 15 %o
(C) 16 —20 =R
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